COMPONENTS PRODUCT INFORMATION JAE

NEW DW2 Series O

RoHS Compliant

Drawing when DW2 is mounted Receptacle (DW2R002ZH1) Plug (DW2P002ZH1)

<<Qut Line>>

The DW2 Series is a rack and panel connector with 2 contacts for high-current (200A). It
enables the connection of the 2 contacts for power supply and 20 contacts for signal at once.
The DW2 Series is suitable for use in a wide range of applications such as storage battery
systems, power supply systems, UPS, and other power supply control equipments.

The DW2 Series is a UL recognized product.

Features

mUL Recognized Product: File No.E67741 %} mSignal connector can be attached to the main

BHigh-current: compatible with 200A unit using an exclusive jig.

BSignal area has a 2-point contacting structure

BElectrical Shock Prevention: structure that
contact.

prevents a person's fingers from touching
the terminals on receptacle side. BConnection of receptacle side power supply

mFloating Amount: 2.75mm can be made at once using the bus bar.

BRobust housing integrating complex
power supply and signal area.

General Specifications

ENo. of Contacts: BContact Resistance:
2 pos. (power supply) 0.2mQ max. (initial) power supply
20 pos. (signal) 20mQ max. (initial) signal

ERated Current: W Durability: 100 times
200A (power supply) BQOperating Temperature:
2A (signal) -25 Deg. C ~ +115 Deg. C

ERated Voltage : BWire Size: 22AWG, twisted wire with insulation
600V (power supply) * Note 1  cover outer diameter 1.5mm Dia. (signal)
100V (signal)

Note 1: Please contact us when considering use in usage environments that exceed 600V.

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 1/15



MB-0266-3

Ordering Information

Connector Main Unit

DW2R0O002ZH 1

Series Modification Code
Plating of Contact Area
H: Ag plating
Connector Type _
R: Receptacle Connection Type
P: Plug Z: Others

No. of Contacts
002: 2 pos. (shown in 3 digit)

Connector for Signal (Plug Side Housing)

DW2P020

Series
Connector Type No. of Contacts
P: Plug 020: 20 pos. (shown in 3 digit)

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 2/15



MB-0266-3

Ordering Information

Connector for Signal (Receptacle Side Housing)

DW2RO010 1

Series Modification Code
Connector Type No. of Contacts
R: Receptacle 010: 10 pos. (shown in 3 digit)

Connector for Signal (Contact)

DW1S04K4F1

Series TModification Code

Plating of Contact Area
F: Sn plating

Connection Type
S: Crimp, socket
P: Crimp, pin

Applicable Cable Size
4: 22AWG

No. of Contacts
04K: 4000 pcs.

Reel Part Number K: unit of 1000 pcs. (Note 1)

Note 1: An embossed reel contains 4,000 pcs.

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 3/15



MB-0266-3

Product Drawing

1. Receptacle (Main Unit)

Part Number DW2R002ZH1
SJ Drawing SJ112004

Figure with spacer

D253-50570
(8J112009)
PART NO. ; Throuth hole for M6 screw (Note2) ace that inserts
E“'—L\ 1 .l'll EJHE*QDFEEJET\‘ ) - ggﬁ-[;;\?‘?/t,;dﬁi;‘iﬁtggm FOSING
COMPANY LOGO | ]’f ff’ ( 5}(&} (/“_J / S(ggg; ;fsl:ggsmserts BUSBAR
i [l Vs /" s | !.f FRNA—{BAL (@)
bl /- =) ._
| ! h ¥ PE -
i i
L.:_ %S [ = ;Joummf KEY
] | ~. (INNER HOUSING)
(115) 20.1 x0.8 .l 221 xo0s _2—&? L S~ (AEND DY)
- o (- (51.2) Pitch of power POLARITY KEY
| LOT No. (Notel) supply Contact (PANEL)
RATED CURRENT /VOLTAGE ' BEF— (R
\ O kNo. (GE1)
EF&E;L ‘EREE
Note 1. PRODUCTION LOT NUMBER AS INDI|CATED.
Note 2. TIGHTEN SCREW(M6) WITH 5. 2[N - m] =0. 3[N - m]
SIZE OF MALE SCREW RIDGE : ¢5.82~ ¢5.97
Note 3. DON'T PUT THE FOREIGN BODY WITHIN THIS RANGE.
1. BROEMICOY FNo. &R
(50'1[ I}IEﬂBER?DISPLAY EXAMPLE O v FESETH)
L — 4B (DA
B (0A8: 0 Hﬁ X, 128 :Y) (MONTH OCT:0, NOV:X, DEC:Y)
fﬁ(ﬁﬁ%‘*%) (YEAR LAST DIGIT ONLY)
i1~} (PRODUCT CODE)
F2. KERD ( MB) #{t FJL25.2[N-m]+0.3[N - m]
RLCWTE : ¢5.82~¢5.97
33, COBEICRMERFLEL &,
4 |REAR HOUSING 2 |PBT COLOR: BLACK
3 |HELICAL EXTENSION SPRING 4 |STAINLESS STEEL -
2 |FLOATING CONTACT 8 |COPPER ALLOY SILVER PLATING
1 |OUTER HOUSING 1 |PPS COLOR: BLACK
T Z W I #_ * E W=
NO. DESCRIPTION QTy. MATERIAL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 4/15



MB-0266-3

2. Plug (Main Unit)
Part Number DW2P002ZH1

SJ Drawing SJ112005
510 oL O
o0 oY
I IS s i O
=l i - f]' T] -
o 49 6l Ly @:ein:a)

20.4 +0.8
Height of BUSBAR
F2N—RY itEE

4-M8x1.25 L
(Noted) N
LOT No. _53.6 +0.8

\ RATED CURRENT/VOLTAGE
115.7 +0.8

N\ B kNo.
EREN/ERET
\ L (55.2)
5.0 (Noted)

2-Through hole for M6 screw
(Note2)
M6 E@re GE2)

1.6 0.8
Height of LOCATION PIN
_ MEROAEREES

Note 1. PRODUCTION LOT NUMBER AS INDICATED.

Note 2. TIGHTEN SCREW(M6) WITH 5. 2[N - m] =0. 3[N - m]
Note 3. TIGHTEN SCREW(M8) WITH 12.5[N - m] =0. 75[N - m]
Note 4. HOLE FOR CABLE UNITY BAND.

1. ErOEARIZOw Mo, &R
[bﬂl’ HEYFEER?DISPLM EXAMPLE O v +#ESFRTMH)
11

"L 4B (DAY)
BO0B:0,118:X 128 :Y) (MONTH OCT:0, NOV:X, DEC:Y)

& (FEEXRE) (YEAR LAST DIGIT ONLY)
#i&2-+ (PRODUCT CODE)

F2 FREFRT (MG B L5 2IN-m]£0. 3N - m]
F3. BEZBLC M) ET FIL212.5[N-m] 0. 75N - m]
Fa4. S—TILEEERAT FHEN

6 |GASKET 1 |SILICON RUBBER COLOR: GREY

5 |SLEEVE 2 |BRASS -

4 |SPRING PIN 2 |STAINLESS STEEL -

3 |PIN CONTACT 2 |COPPER ALLOY SILVER PLATING

2 |M8 HEXAGON NUT 4 |BRASS NICKEL PLATING

1 |OUTER HOUSING 1 |PPS COLOR: BLACK

HE ] T & # ¥ L "o
N DESCRIPT IO ary. MATERIAL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 5/15



MB-0266-3

3. Connector for Signal (Receptacle Side)

Part Number DW2P020
SJ Drawing SJ112006

39.8 +0.8
39.5 +0.8

PROJECTIONS
Eie :

LOT No. (Note. 2) m PARTS No DWZRO101 MATING SIDE
] e (Housing-A)
- E ; ~._COMPANY LOGO

: 328 [ I =

YHEYY {8 —

[} ———— |
CAVITY No.
28.9 0.8 | * = E'No.

DW2RO102 MATING S[DE /

(Housing-B)
J Ul Table-1
| Contact Part No Size Outer Diameter | Remarks
DW1P0O4K4F1 Signal
|| (SJ111311) AWG#22 ¢1.5 Contact
DW1P04K4F2 Detected
(SJ111312) AWG#22 $15 Contact

Note 1. CONTACTS ARE SOLD SEPARATELY.THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. YEAR AND MONTH OF MANUFACTURED SHALL BE SHOWN AT THE LOCATION.
(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

F1. KERKFaUE2Y RAIGERTHY . BHIVEV IR 1DEBYTHS.
F2. BROMAEIC %EEE ’&ﬁf’?’

LY

(Zfl . EE3H. 44, B H 123456789XYZ)
1 [INNER HOUSING 1 |PBT GOLOR: BLACK
B= W I o ® B T w =
No. DESCRIPT 0N ary. HATERIAL FINIGA REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 6/15



MB-0266-3

. Connector A for Signal (Plug Side)

Part Number

DW2R0101

SJ Drawing

SJ112007

POLARIZING KEY
:F_

ks

HOUSING No. [A]

N2 HNo A

 23.45 +0.8_|

LOT MARK
Ay bES

\
ILART No. \

CAVITY No.

COMPANY LOGO

" 36.4 +0.8 .
45

:j
— = "
Table-1

Contact Part No Size Quter Diameter | Remarks

DW1S04K4F1 Signal
(SJ111310) AWG#22 ¢15 Contact

Note 1.CONTACTS ARE SOLD SEPARATELY.THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-I.
Note 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PARTS.

DW2R0102 (SJ112008)

1. KEREFoU27 FHERTHY ., BRIV MERT1DESYTH S,
Fo AKERITIEMmBEBEF—EUEENVMTH D,

DW2R0102 (SJ112008)
1 [INNER HOUSING -A 1 |PBT COLOR: BLACK
B Z2 W R o £ E wE
No. DESCRIPTION ary. WATER AL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd.

7/15




MB-0266-3

5. Connector B for Signal (Plug Side)

Part Number

DW2R0102

SJ Drawing

SJ112008

HOUSING No. [B]

N2 No([B]

POLARIZING KEY
By —

LOT MARK
Oy &S
PART No.

CAVITY No.
* v ENo

h Eid

COMPANY LOGO

23.45 +0.8 |

36.4 0.8

45

Table-1
Contact Part No Size Outer Diameter | Remarks
DW1S04K4F1 Signal
(SJ111310) AWGH22 ¢15 Contact

Note 1.CONTACTS ARE SOLD SEPARATELY.THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PARTS
DW2R0O101 (SJ112007)

F1. KB GIED
2., RELIET
DW2R0O101 (S

J

112007)

VA RRFERTHY ., BAIVET FERT1DEBYTHS.
Cin B EBEF—NEBEEGMTHD.

1 |INNER HOUSING -B

1

PBT

COLOR: BLACK

= £ F
NO. DESCRIPT ION

B #
QTY.

Lz
MATER I AL

#+ E " =
FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 8/15




MB-0266-3

6. Spacer

Part Number

D253-50570

SJ Drawing

SJ112009

through hole for M6 screw

9.3

20.5

NOTE. 2 NOTE. 3
o ‘|—|‘ \l
o e l M w |
CAVITY No
F + ENo.
NOTE 1. This product is an optional spacer of DW2R002ZH1.
NOTE 2. Month of manufacture
NOTE 3. Year of manufacture.
F 1. KBEEIZDW2R002ZHI D RIFTFAR—HTH 5,
2. #HiEH £\
3. sEE
1 |Spacer 1 |Zinc alloy Eig&eéogégri”g
"E £ FR & * # = E i *
NO. DESCRIPTION QrTy. MATER | AL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd.

9/15




MB-0266-3

7. Socket Contact for Signal (for Plug)

Part Number DW1S04K4F1
SJ Drawing SJ111310

@15
T
— — S T =4
T ”7”*’7’*’4['_;;&‘85[ 1|L \%
==‘ | -
‘ g
A/ . o~
e i
(23.4) ola
: |
(5:1) |
{16.35) S e [(57) /ﬁi
(7.6) S 8.75 +0.3 2.05 +0.3
3 1.5
s i @ 10z || | |
H ;) Y 9 .
i H AN ﬁ s — ©
o3 - \ L = i o
4 Cl‘.! | I A & i
(1.85 \NOTES
A . ,
/Hi §/®
[ — 3
Vo E
— 3
= 1 A
— E \@
— /2\ NOTE4 I/

NOTE 1. THESE CONTACTS ARE SUPPLIED PER REEL THERE ARE 4, 000 CONTACTS PER REEL.
L __NOTE2. APPLICABLE MATING PIN - J0. 640.

NOTE3. APPLICABLE WIRE:AWG#22 (0. 3mm"2) INSHULATIDN OUTER DIAMETER: ¢ 1. 5 (STRANDED)
NOTE 4. PART NUMBER. QUANTITY AS INDICATED.

NOTES. YEAR AND MONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOCATION.

(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

EX. "10Z" —MANUFAGTURED IN DEC. 2010

F1. B2 A REY—LRTHEE S 4000[PC/ ) —IL] ET S,
2. BAEITREDO0 640 0569 5,
A 3. ERAEBANGH22(0.3mm"2) fBH., gm&msmmﬁa?&

1
- 4. ETROuUEICHRE. SEFEALEEGEZN/BGATA,

5. EROuBCNEFAREERTT D,
711401 7 (8 : EEMT. MirB. G - R123456789XYZ)
- - Bl 107 —8iE4E 32010125,
3 |SOCKET CONTACT 4000 [COPPER ALLOY TIN PLATE —
2 |PAPER TAPE 1 |PAPER — —
1 |MAGAZINE 1 |PAPER — —
ol £ i B # #ooH #t £ & =
NO. DESCR IPTI0ON QTY. MATER | AL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 10/15



MB-0266-3

600 )

8. Pin Contact Long for Signal (for Receptacle)

Part Number

DW1P04K4F1

SJ Drawing

SJ111311

m

\\
1Y
||
|
\

/.

LU

(18.25) o =
i
(29.65) ol S
G |
an
L WJ
(13.85) 9.15 +0.3 (5.7) T -
. +0.3
3 .5
7 10z | —
" — L | w
) \ b «~
— \.A T T _‘
" NOTES
:-\.. ___(3“
= WM

AR AG RIEY =LK THEBEAL 4000[PC/ Y —IL] ET
. ERWIBANGH22 (0. 3un’2) 4824, HBEAE Q] SOMME ¥
i4.@ﬁ®ﬁ§t&%

. ETROEE

. THESE CONTACTS ARE SUPPLIED PER REEL. THERE ARE 4,000 CONTACTS PER REEL.
. APPLICABLE WIRE:AWG#22 (0. 3mm"2)
. PART NUMBER, QUANTITY AS INDICATED.

. THE MARK DENOTES TYPE OF THE CONTACT AT THE LOCATION SHOWN.

INSHULATION OUTER DIAMETER:@1. 5 (STRANDED)

“A” 1S FOR SIGNAL CONTACT, AND "B” FOR DETECTED CONTACT (SJ111312).

~ YEAR_AND MONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOCATION.

(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)
EX. " 102" —MANUFACTURED IN DEC. 2010

Do

G
FHRALEZBEGRMABSA TV A,

2 I*ﬂ')?i E%'.T'L,

#ﬁﬁ 22 RSIN1312) OB EBERTT 5.

23456789XY2)

ETOREDED
ES220

-}
mEEM, 4
107 — 8=

. i
a4
DEFILA,
EF AR

(ZC ) - HIE
fl A20

_.a

PIN CONTACT

4000

COPPER ALLOY

PAPER TAPE

1

PAPER

MAGAZ INE

1

PAPER

DESCRIPTION

B =
QTY.

MATERIAL

# ft E w &
REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd.

11/15




MB-0266-3

9. Pin Contact for Signal Short (for Receptacle)

Part Number

DW1P04

K4F2

SJ Drawing

SJ111312

e
\NOTE4 ~f
| - 15
/'/
— 8 — = EHEE o -
_ | -
(16.75) S
(28.15) ol S
. |
G:D | ‘
\ ] 2.99 +0. L —
(12.35) 9.15 +0.3 5.7)
i 2.05 +0.3 |
3 15 D
304 jf 'W 102 l — a5 - M@ |
Tolel L9 3 W
[1.85)
] I“.‘\\ \ | S i ya
\ \\ \’.:HEL_?
__\7& ! r‘rraij ERN
A [ S~ FaN -
P —f—
S 7
7 _ 40
3 |PIN CONTACT 4000 |COPPER ALLOY TIN PLATE —
2 |PAPER TAPE 1 |PAPER — —
1 [MAGAZINE 1 |PAPER — —
e O B % Ho® H E B %
NO. DESCRIPTION QTy. MATERIAL FINISH REMARKS
12/15

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd.



MB-0266-3

Applicable Board Dimensions (for reference)

Receptacle Side

Drawing from connector installed side 2-92.8 +0.1
20 0. @6.1 *0.1

0.1

9.4 0.1 |
R1. 5 (max)

5.85 +0.1

0.1

52.7 +0.3
66 +

87 (min) note. 3

0.1

107.7 *=0.3 H
124 (min) note. 3

5.85 +0.1

Plug Side

$5.3 +0.1
By
ot
M6-screw | %
panel center | | w =
. . =
— g S| H
~
M6-screw P i
[N ]
|
$7.3 +0.1 S —f

L+

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 13/15



MB-0266-3

DW2 Serles *Contact is Reel Part Number

Receptacle S|de Pin Contact (Long) for Signal

Connector for Signal \Q //% DW1P04K4F1
DW2P020 \

DW1P04K4F2
Pin Contact (Short ) for Signal

| D253-50570
Spacer (Floating Area)

Receptacle Spacer (Floating Area)

DW2R002ZH1 D253-50570

Plug Side

Connector A for Signal 77| DW1S04K4F1

DW2R0101 g | fSoorcSkiegtng?ntact

Plug
DW2P002ZH1

DW2R0102

Connector B for Signal

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 14/15



MB-0266-3

Technical Documents

Technical Document No. (Document Content)

Product Drawings SJ112004 (DW2 Receptacle)

SJ112005 (DW2 Plug)

SJ112006 (DW2 Connector for Signal Receptacle Side)
SJ112007 (DW2 Connector A for Signal Plug Side)
SJ112008 (DW2 Connector B for Signal Plug Side)
SJ112009 (Spacer)

SJ111310 (DW1 Socket Contact for Signal)

SJ111311 (DW1 Pin Contact Long for Signal)
SJ111312 (DW1 Pin Contact Short for Signal)

Specifications JACS-30188

Handling Instructions JAHL-30188

Crimp Applicator T703488 (for semi-automatic crimping machine)
Handling Instructions *Please contact us regarding automatic crimp tool.

Hand Crimp Tool

Handling Instructions 1700315

Notice:

1. The values specified in this brochure are only for reference. The products and their specifications are subject to change without notice.
Contact our sales staff for further information before considering or ordering any of our products.
For purchase, a product specification must be agreed upon.

2. Users are requested to provide protection circuits and redundancy circuits to ensure safety of the equipment, and sufficiently review the
suitability of JAE's products to the equipment.

3. The products presented in this brochure are designed for the uses recommended below.
We strongly suggest you contact our sales staff when considering use of any of the products in any other way than the recommended
applications or for a specific use that requires an extremely high reliability.

(1) Applications that require consultation:

(i) Please contact us if you are considering use involving a quality assurance program that you specify or that is peculiar to the industry,
such as:

Automotive electrical components, train control, telecommunications devices (mainline), traffic light control, electric power, combustion
control, fire prevention or security systems, disaster prevention equipment, etc.

(i) We may separately give you our support with a quality assurance program that

you specify, when you think of a use such as :

Aviation or space equipment, submarine repeaters, nuclear power control systems, medical equipment for life support, etc.

(2) Recommended applications include:
Computers, office appliances, telecommunications devices (terminals, mobile units), measuring equipment, audiovisual equipment, home
electric appliances, factory automation equipment, etc.

Japan Aviation Elecironics Industry, Limited
Product Marketing Division
Aobadai Building, 3-1-19, Aobadai, Meguro-ku, Tokyo 153-8539
Phone: +81-3-3780-2882 FAX: +81-3-3780-2946

* The specifications in this brochure are subject to change without notice. Please contact JAE for information.

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 15/15




